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STATISTICS .
(General)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x7=7

(@) The census data published for
genderwise population of India will be
known as ——— classification.

(Fill in the blank)

Fooe FFR QI AT I OISY
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(b) Name a measure of location which is

(c)

(d)

not a measure of central tendency.

B! TRIFST (o AN ol R et ey
(& TZF |

What is the relation among mean,

median and mode for a symmetrical
distribution ?

mmﬁ@aﬁamm;ww%'ww
ST [ 2

Newton’s forward formula is ﬁsed

when the

value lies in the
beginning of the series. '

( Fill in the blank )

OO SRSt SR W I[YY T W

e ! T cA=t W e
FICE AT (W A% o739 7))
3 (Sem-1) STS/G 2

(e)

(g)
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Under what assumption would you
use Simpson’s %th rule of

integration ?

& fSuRIR foles MY SEeme Hic
2 AUt et IRA 2

The consumer price index number
of money.
( Fill in the blank])

helps to evaluate

AT T L PR — il TS
R A (I A2 239 7)

The geometric mean of four values

2, 2, 0 and 4 is 2. (State True/False)

2, 2, 0 9% 4 T QST MY TA 2.
(%7 / &7y fsn)
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2. Answer the folloWing : 2%x4=8
oo AR TR ot ¢

(a) Explain the difference between direct
personal investigation and indirect
oral investigation.

ATH JEAC PR OIS SE@rT GNRE
SRR SR AT BRI i

(b) Discuss any method of collection of
secondary data.

Nt o AW R @I 9B 2 Raem
foran

(c) Prove that
g N A

347 =
. A ua— ua+3h - 3ua+2h +3ua+h —ua

(d) State the limitations of index number.

IR ARAOTR TE 3|
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3.

Answer any three questions : 5x3=15
A e fofat e el fordl ¢

(@)

(b)

Define a statistical table. State the
essential qualities of a good table. S

SRR AR 7@ Bl | 94 o
FARTT SPPIT SAAT I F7¢A |

The following costs were incurred to
construct a house : S

Bl T Pl AT TeTe Bl RRETE (AR
¥ ¢

Head / [Stdt Cost /43
(in thousand)

(TS )
Cement/ 6% 50

Brick/ 351 60
Iron/ (sl 25

Labour and Misc 45

TG IR S

Represent the data with a
suitable diagram.

SYPTZ OIYE oo ARy w11
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(c)

(@

(e)

Describe  different measures of
location. Mention the merits and

limitations of one of these measures.
5

RS Ries iR e w0 7 @
G5! MR @ P SHER TE 7|

Define mean deviation and standard
deviation. Prove that for any discrete
distribution, standard deviation is not
less than mean deviation from mean.

2+3=5

4% Roem wie amifde Reeme wice fovdl
4t 7 @, 7 e Rt Rerems iR
amfdle Roem WY o[ A T NG
RoeelT e B9 @RI

Write short notes on :

53 (oIt fora ¢

2+3=5

(i) Bar diagram and Histogram
we foa wi% 8 oY
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(i) Curtosis

IR
4. Answer any three questions : 10x3=30
R clct fofast e Te foral ¢
(@) (i) Calculate the quartile deviation
from the following data : S
oY SAPIA 79 FgRIT [Rvem Refa
93
Class Interval : 0-15 15-30 30-45 45-60 60-75 75-9090-105
@t Rerem
Frequency : 8 2% 30 45 2 17 4
(i) Define moments. Show that
Ha=H3 = 34t 4y + 24,° in usual
symbols. 5
oo e 1R | 559 I oS
(ST @ pa=p3— Sy 11y + 24
3 (Sem-1) STS/G 7

Contd.



: i x2 how
(b) (i) State and prove Lagrange’s [d) @) If u,=a+bx+cx?, thens

interpolation formula. When is that
this formula used ? 4+1=5 . '1 ]
= — -2uy,+u

STlallers SN Tt el == et | _[luxdx—2u0+12 [u, —2up+u,
3| @R A TR YT I = 2 ) 5

() Find f(2) from the following data : ‘érﬁux = a + bx +cx?T,(30T (YSAR
W TR o F(2) Refr s 5

1 1
X 1 2 3 4 5 J'uxdx.-_-zuo-;-ﬁ [u_2 —2u0+u2]
fx) : 7 2 13 21 37 -
(¢) (i) Discuss about various
problems faced for construction Y odx :
of index numbers. 5 (i) Evaluate 6[1 b %2 by using
IS 1o RfeR Bovng wieemt trapezoidal rule and Simpson’s
= gth rule. 2+3=5
8

(i) Write short notes on time
reversal test and factor reversal ' 3
test. Name the formula which BoeRe [ =% [Sars gﬁmﬁ
satisfies both the tests. 4+ 1=5 g

d R =11

m%&mﬁﬂﬂmm%w%amq Of1+x2 q-m
AT SIS 5 Bt fayai | L€
vl B =1 bR AW B |



(e) @)

With the following data, calculate
Fisher’s index number and hence

prove that it is an ideal measure

of index number : 6
TR ©UR 291 fpie pRiks Rl
R FS S oRRFRCA 2 Y 3
Commodities Year-2000 Year-2013
= F-2000 T -2013
Price Quantity | Price Quantity
T e | s
(in¥) (in kg) (in¥) (in kg)
A 2 8 4 16
B S 10 6 5
C 4 14 S 10
D 2 19 2 13
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(i) What is family budget enquiry ?

Discuss the construction of cost
of living index number by the
family budget method. 4

SR W T B 2 Said T
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